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2500 X2 / ndf 2.907 /54
p0 17.61+ 153.7
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1D pull distribution

Mean -0.001694 + 0.031
__ M StdDev  0.2299 +0.02192
: Underflow
-_ Overflow
: 18 X2/ ndf 0.2107/1
: Constant 406 £7.5
r Mean  -0.03322 + 0.03860
: Sigma 0.2887 + 0.0345
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X2 / ndf 44.69 /54 R
p0 90.23 + 340.2

1D pull distribution

Mean -0.01562 +0.1215
r Std Dev 0.9013 + 0.08593
12 Underflow 0
r Overflow 0
10— X2 I ndf 2.163/5
- Constant 1219 +2.15
Mean -0.01821+ 0.14576
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| Sigma 0.9429 +0.1211
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1D pull distribution
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Std Dev
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Mean
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1D pull distribution
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1D pull distribution

+0.1432

0.008259

Mean
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10.29/8
14.19 +2.90

1.062

Std Dev
Underflow
Overflow
X2 / ndf
Constant

0.06968 + 0.10138

Mean

0.6703 + 0.0935

Sigma
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62.06 / 54 H
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1D pull distribution
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Mean  0.008794 + 0.145

Std Dev 1.076 + 0.1026

Underflow 0
Overflow 0
X2 / ndf 6.189/7
Constant 10.28 + 2.04
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diff_evMon11 (nm)
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1D pull distribution

Mean  -0.008296 +0.1335
I B StdDev  0.9899 +0.09439
14__ Underflow 0
L Overflow 0
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L X2/ ndf 5.809/6
u r Constant 11.21+232
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r Mean -0.1581+ 0.1446
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g_evMon3 RMS (ppm)
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1D pull distribution
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g_evMon4 RMS (ppm)
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g_evMon5 RMS (ppm)
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1D pull distribution
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X2 / ndf
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1D pull distribution
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g_evMon10 RMS (ppm)
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g_evMonl1l RMS (ppm)
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1D pull distribution
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1D pull distribution
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1D pull distribution
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